
Time: 10 Minutes Paper Math 7 (T-1) Total Marks: 10

6th Month, 1st Week, 5th Day Exercise 5.2 Q# (4,5,6)

 Answer the following questions:  
Q.1. The given table shows the lengths of 320 ribbons. Construct histograms

for the given data.      (1x5=5)

  320 
Length (m) of ribbnons

 (m) 
5 < x < 10 10 < x < 15 15< x < 20 20< x < 25 25< x < 30

Number of ribbons


80 60 50 35 95

Q.2. The following frequency table shows the number of school bags sold by

shopkeepers. Also tell how many shopkeepers are there toghether?

Draw histogram for the given data.      (1x5=5)


 

Number of school boys


241_250 251_260 261_270 271_280 281_290 291_300

Number of shopkeepers


15 10 20 13 7 18
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